Actual Formula Test #1 Test #2 Formula
(a+b)@° —ab +b?) a’+b° =
(a—b)@’ +ab + b)) 2_pd=

X = —bi\/b2—4ac

2a

Quadratic Formula

0 = f(-=%

Test for even
functions

f(=»% = —f(¥

Test for odd
functions

(x—h)* +(y—k)* =1’

General equation
of a circle
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Equation of a
semi-circle
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J3 tang%o g =
J% tang% (Ej =
%‘j tanq =
Z(i)r?q cotq =

1 sinzq + coszq =

1+ COtzq = COSGCzq

Other trig identity

tanzq +1= seczq

Other trig identity

SinA _ sinB .
a b Sine rule
2 2 2 Cosine rule for
a =b +c — 2bccosA side
A = b2 + c2 - a2 Cosine rule for an
CSh T 2bc angle
A=L1absinC Area of a triangle
2 using trig
Graphs

d = J0o— %)+ (V- v

Distance formula

P = X+ X2 Y1+Y29

Midpoint Formula

2 2 ¢
m= Y=V Gradient Formula
X2 — X1
m = tanq Gradient using trig




Point-gradient

Y=Y = MX—=Xy)

formula

Y=V — ¥Yo— V1
X— X1 Xo — X1

Two-point formula

Parallel lines proof

m, = m,
mm, = -1 Perpendicular lines
1 proof
Perpendicular

q = |ax: + by: + ¢|
2 2
Ja +b

distance formula

Angle between two

_ I m-—m I
t = 71—k .
ang I 1+mmm;i lines
x = MX + NXy
m+n Dividing interval in
y = My2*ny, ratio m:n
m+n
dy - i, fx+h) = (X First principle
dx he o h differentiation
— d.n
nx ! &x
FOon [109)" 4 11" =
()n [f(x)] dx
wu' +uv d uv
dx
w' —uv d u
Vv dx v
x = _b Axis of symmetry
2a in quadratic
D = b’ — 4ac The discriminant
b
2 Sum of roots




c
a

Sum of roots two
at a time

d
a

Sum of roots three
at a time

€
a

Sum of roots four
at a time

X = 4ay
(0, )
(0, 0)

Equation of basic
parabola.
Focus
Vertex

(x— h’) = 4a(y — k)
(h, k)
(h,k +a)

General equation
of parabola.
Focus
Vertex

X = 2at

2
y = at

Parametric form of:
2
X =4ay

T, =a+(n-1)d

Term of an
arithmetic series

S, = g(a+|)
S, = g[2a+(n—1)d]

Sum of an
arithmetic series

S =(n-2)" 180°

Sum of interior
angles of an n-
sided polygon

A=1b Area of rectangle
A= X Area of a square
A = %bh Area of a triangle
A = bh Area of a

parallelogram




1
Exy

Area of rhombus

A = % h(a +b) Area of trapezium

A = pr2 Area of circle
S = 2(Ib + bh + In) Surface area of a
rectangular prism

V = Ibh Volume of a
rectangular prism
2 Surface area of a

> = cube

V= X Volume of a cube

Surface area of a

cylinder
2 Volume of a
V=prh cylinder
_ Surface area of a
S = 4pr sphere
V = 4py Volume of a
3 sphere
2 Surface area of a
S =pr + pil cone
V = % przh Volume of a cone
n+1 4
X +C 8 X dx
n+1 o

g[(yo +Yn) + 201t Yot o + Vi)

whereh = %

Trapezoidal rule




%[(yo+yn) + 4(y. +Ys) + 2(Y2+ Vi)

whereh = %

Simpson’s Rule

n+1
(ax+ b) +e

§ (ax +b)" dx

a(n +1)
_ 0 2 Volume about the
V= p8 y dx x-axis
6 2 Volume about the
V = p8 X dy y-axis
d x
ex &e
d _f®
f'(X) g™ ax €
e + ¢ § e" dx
leax+b +c 8 eax+bdx
a 0
log, x + log,y log. (%)
log, x — log,y loga % g
n log, x log, X"
log. x = loge X Change of base
log. a rule
1 d
= Y log.
X dx 9. X
(3 Log, 1
f(x) gx 09: f(¥)
log. x+ cC 8 1 gx

0O X




log. f(x) + ¢

8f—IQde

o (X

pradians =

Circumference of a

circle

Length of an arc

Area of a sector

A = %rz(q—sinq)

Area of a minor
segment
sinx » X
tanx » x Small Angles
cosx » 1
f'(x) cos [f(X)]

d

L sin (1]
— (%) sin [(¥)] & cos [f(x)]
F(x) sec*f(x) g—x tan (x)
%sin(ax+ b) +c

cos(ax + b) dx

—% cos(ax +b) +c

1

" |ooo. |00

sin(ax + b) dx

=tan(ax+b) +c
a
1

§ secz(ax+ b) dx

1x + = sin2ax + ¢
2 4a

1

2
cos ax dx

1 .
=X — —sin2ax + ¢
2 4a

00O [ COON

. 2
sin ax dx




Common ratio in
geometric series

Term of a
geometric series

n
Sn=g(%lfor|r|>1

Sum of a
n geometric series
S, =ﬂ11;rrl for |r] < 1
g, = @& Sum to infinity of a
¢ 1-r geometric series
- r g Compound interest
A= ? " 100 ¢ formula
1§ fLE bo_ 0 Halving the interval
2 ¢ method
a = a — (@) Newton's method
f'(a) of approximation
n!
(n=rn)! P =
ni Arrangements
™ where some are
sit!... .
alike
(n-=2)!

Arrangements in a
circle




